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Q.51 6 men or 5 women earns Rs.14820 in two days. How much 4 women and 6 
men will earn in one day?
6 पुरुष या 5 महिलाएं दो हदनों में 14820 रुपये कमाती िैं। 4 महिलाएं और 6 पुरुष एक हदन

में हकतना कमाएंगे?
(A) Rs.13338          (B) Rs.13832              (C) Rs.26676            (D) Rs.27664
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Q.52 A borrowed a loan from B at 8% simple interest for two year and repaid the loan with 
interest totaling Rs.191864. The amount of loan taken by A is? 
A ने B से दो वर्ष के लिए 8% साधारणब्याज पर एकऋणउधार लियाऔर कुि रु 191864 केब्याज
के साथऋण चुकाया। A द्वारा लिए गएऋणकी रालि है?
(A) Rs.168920            (B) Rs.166540        (C) Rs.164492                   (D) Rs.165400
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Q.53 A can do a work in 12 days while B can do same work in 18 days. How long ( in days ) will 
it take if they do the work together?
A एककामको 12 लदनो ों में कर सकता है जबलक B उसीकामको 18 लदनो ोंमें कर सकता है। यलद
वे एकसाथकामकरते हैं तो लकतना समय (लदनो ोंमें) िगेगा?
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Q.54 A sum of money placed at compound interest doubles itself in 2 years. The number of 
years it will take to amount 4 times itself is
चक्रवृद्धिब्याज पर रखी गईकोई रालि 2 वर्ष में अपनेआप दुगनी हो जाती है। रालिकोस्वयों 4 गुना
करने में िगने वािे वर्ों की सोंख्या है
(A) 6              (B) 4                            (C) 8                     (D) 3
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Q.55 A trader lists his article 20% above the cost price and allows a discount of 10% on 
cash payment. His gain percentage is
एकव्यापारी अपनी वसु्तकोक्रय मूल्य से 20% अलधक सूचीबिकरता हैऔर नकद भुगतान

पर 10% की छूट देता है। उसका िाभ प्रलतित है
(A) 6%            (B) 10%          (C) 5%                   (D) 8%
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Q.56 A traders marks the products 25% above the cost price and allow a discount of 15%. If 
the cost price is Rs.2080, then the selling price is? 
एकव्यापारी उत्पादो ों पर िागत मूल्य से 25% अलधकअोंलकतकरता हैऔर 15% की छूट देता है।
यलदक्रय मूल्य 2080 रुपये है, तो लबक्री मूल्य है?
(A) Rs. 2210          (B) Rs. 1809           (C) Rs. 2392             (D) Rs. 2600
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Q.57 By selling an article at 3/4 of selling price, a trader incurred a loss of 10%. The profit 
or loss percentage, when it is sold at the original selling price, is 
एक वसु्तको लवक्रय मूल्य के 3/4 पर बेचने पर, एकव्यापारी को 10% की हालन होती है। मूि
लवक्रय मूल्यपर बेचने पर िाभ या हालन प्रलतित है ?
(A) 120% profit         (B) 32.5% loss            (C) 20% loss             (D) 20% profit

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

Q.58 PQRS is a cyclic quadrilateral such that ratio of measures of ∠P, ∠Q and ∠R is 1: 3: 4 
then the measure of ∠S is 
PQRS एक चक्रीय चतुरुु्ज िै हजसमें P, Q और ∠R के मापों का अनुपात 1: 3: 4 िै तो ∠S का माप िै
(A) 360              (B) 1080              (C) 1440                    (D) 720
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Q.59 The HCF and LCM of two number is 6 and 5040 respectively. If one of the number 
is 210, then the other number is?
दो संख्याओं का HCF और LCM क्रमशः 6 और 5040 िै। यहद एक संख्या 210 िै, तो दूसरी
संख्या िै?
(A) 256               (B) 144               (C) 30                     (D) 630
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Q.60 The radius of the bases of the cylinder and a cone are equal and their volumes are also 
equal. Then the ratio of their height is
बेिनऔरिोंकु केआधारो ोंकी लिज्याएँ बराबर होती हैं और उनकेआयतन भी बराबर होते हैं। तो

उनकीऊों चाई का अनुपात है
(A) 2: 1                  (B) 1: 2                   (C) 1: 3                       (D) 1: 4
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Q.61 The value of 3×3–[6–{12+15÷(7–2)}] ?

(A) –15      (B) 18          (C) 0         (D) 15

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

Q.62 The volume of cylinder with height 6 cm is 231 cm3 . The radius of the cylinder is?
6 सेमी ऊँचाई वािे बेिनकाआयतन 231 सेमी3 है। बेिनकी लिज्या है?
(A) 21 cm           (B) 2.1 cm              (C) 35 cm                     (D) 3.5 cm
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Q.63 Aashu adds first N natural numbers and finds the sum to be 1850. But actually one 
numbers was added twice by mistake. Find the difference between N and that number.आिु

पहिे N प्राकृलतकसोंख्याओोंको जोड़ता हैऔर योगको 1850 पाता है। िेलकन वास्तवमें एकसोंख्या

गिती से दो बार जोड़ दी गई थी। N औरउससोंख्या के बीचका अोंतर ज्ञातकीलजए।
(A) 40             (B) 33               (C) 60                   (D) 17
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Q.64 Triangle PQR is a right angle triangle at Q. If PQ= 6 cm, PR= 10 cm, then QR is 
equal to? 

(A) 5 cm         (B) 8 cm                  (C) 7 cm                  (D) 9 cm
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Q.65 The difference between the compound interest and simple interest on 8.5 % per 
annum for two year is ₹ 28.90. the value of x is ?
दो वषु के हलए 8.5% वाहषुक पर चक्रवृद्धिब्याजऔर साधारणब्याज के बीच का अंतर ₹ 28.90 िै। x 

का मान िै?
(A) 3500                      (B) 3800             (C) 4000                (D) 4500
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Q.66 If the sum of the digits of any number, lying between 100 and 1000 is subtracted 
from the number, then the difference is a multiple of 
यहद 100 और 1000 के बीच की हकसी संख्या के अंकों का योग उस संख्या में से घटा हदया जाए, तो
अंतर हकसका गुणज िोता िै
(A) 7                 (B) 9                    (C) 11                       (D) 6
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Q.67 What are the last two digits of 𝟕𝟐𝟎𝟎𝟖 ? 
(A) 21       (B) 64         (C) 01       (D) 41
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Q.68 Ten years ago the average age of P and Q was 20 years. Average age of P, Q and R 
is 30 years now. After 10 years, the age of R will be-
दस वषु पिले P और Q कीऔसतआयु 20 वषु थी। P, Q और R कीऔसतआयु अब 30 वषु िै।
10 वषु बाद, R कीआयु िोगी-
(A) 35 years                (B) 40 years           (C) 30 years              (D) 45 years
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Q.69 What is the value of 'a' if the mean of the set S = {4, 10, a, 12, 13, 21} is same as 
the mode? 

(A) 10             (B) 10.75            (C) 12                       (D) 12.75
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Q.70 A 130 m long train running at the speed of 45 km/hr crosses a bridge in 30 
seconds. What is the length of the bridge? 

(A) 245            (B) 240               (C) 250                  (D) 255
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Q.71 5.4 × 0.0015 = ? 

(A) 0.81                  (B) 0.00081                   (C) 0.081                   (D) 0.0081
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